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B08

1

If there are 300 calories in 100 g of a certain food, how many
calories are there in a 30 g portion of this food?

A. 90

B. 100

C. 900

D. 1000

E. 9000



B09

2



B10

3

Which of these is the smallest number?

A. 0.625

B. 0.25

C. 0.375

D. 0.5

E. 0.125



D09

4

Which of these fractions is smallest?

A. 1
––
6

B. 2
––
3

C. 1
––
3

D. 1
––
2



D12

5



F07

6

A runner ran 3000 m in exactly 8 minutes. What was his average
speed in meters per second?

A. 3.75

B. 6.25

C. 16.0

D. 37.5

E. 62.5



F09

7

Which of these numbers is between 0.07 and 0.08?

A. 0.00075

B. 0.0075

C. 0.075

D. 0.75



F12

8



H08

9



H09

10

The sum 691 + 208 is closest to the sum

A. 600 + 200

B. 700 + 200

C. 700 + 300

D. 900 + 200



11

J12

Divide:
6 3
––  ÷ –– =
55 25

Answer: ______________



J14

12

Divide 0.003)15.45

A. 0.515

B. 5.15

C. 51.5

D. 515

E. 5150



J18

13



L09

14



L10

15

Which number is two hundred six and nine-tenths?

A. 206.09

B. 206.9

C. 206.910

D. 2006.9



L18

16

What is the value of 4 1 1
–– –    ––    –    ––    ?
5 3 15

A. 1
––
5

B. 2
––
5

C. 7
––
15

D. 3
––
4

E. 4
––
5



N11

17

A company produced 17,175 cars in 1996. For a report, this
number was rounded to the nearest hundred. Which was the
number of cars given in the report?

A. 17,000

B. 17,100

C. 17,200

D. 17,270



N14

18

In which list of fractions are all of the fractions equivalent?

A. 1 2 4
–– , –– , ––
2 4 6

B. 2 4 8
–– , –– , ––
3 6 12

C. 2 4 8
–– , –– , ––
5 10 50

D. 3 4 6
–– , –– , ––
4 6 8



N16

19

Penny had a bag of marbles. She gave one-third of them to
Rebecca, and then one-fourth of the remaining marbles to
John. Penny then had 24 marbles left in the bag. How many
marbles were in the bag to start with?

A. 36

B. 48

C. 60

D. 96



N17

20

A painter had 25 L of paint. He used 2.5 L of paint every hour. He
finished the job in 5.5 hours. How much paint did he have left?

A. 10.25 L

B. 11.25 L

C. 12.75 L

D. 13.75 L



21

N19



P13

22

There are 68 rows of cars in a parking lot. Each row has 92
cars. Which of these would give the closest estimate of the total
number of cars in the parking lot?

A. 60 x 90 = 5400

B. 60 x 100 = 6000

C. 70 x 90 = 6300

D. 70 x 100 = 7000



P14

23

Sound travels at approximately 330 meters per second. The
sound of an explosion took 28 seconds to reach a person. Which
of these is the closest estimate of how far away the person was
from the explosion?

A. 12,000 m

B.  9,000 m

C.  8,000 m

D.  6,000 m



P15

24

Robin and Jim took cherries from a basket. Robin took –– of the

cherries and Jim took –– of the cherries. What fraction of the

cherries remained in the basket?

A. 1
––
2

B. 1
––
3

C. 1
––
6

D. 1
––
18

1
3

1
6



P17

25

Write 0.48 as a fraction reduced to its lowest terms.

Answer: ______________



R07

26

Subtract: 4.722 – 1.935 = 

A. 2.787

B. 2.797

C. 2.887

D. 2.897



27

R08

The total weight of a pile of 500 salt crystals is 6.5 g. What is
the average weight of a salt crystal?

A. 0.0078 g

B. 0.013 g

C. 0.0325 g

D. 0.078 g



28

R13

Subtract: 7003
– 4078

–––––

A. 2035

B. 2925

C. 3005

D. 3925



29

R14

Laura had $240. She spent –– of it. How much money did she
have left?

Answer: ______________

5
8



30

R15

John sold 60 magazines and Mark sold 80 magazines. The
magazines were all sold for the same price. The total amount
of money received for the magazines was $700. How much
money did Mark receive?

Answer: ______________



31

T02

A book publisher sent 140 copies of a certain book to a book-
store. The publisher packed the books in two types of boxes.
One type of box held 8 copies of the book, and the other type
of box held 12 copies of the book. The boxes were all full, and
there were equal numbers of both types of boxes.

a) How many boxes holding 12 books were sent to the
bookstore?

Answer: ______________

b) What fraction of the books sent to the bookstore were
packed in the smaller boxes?

Answer: ______________



32

T04

A sheet of paper is 0.012 cm thick. Of the following, which
would be the height of a stack of 400 sheets of this paper?

A. 0.048 cm

B. 0.48 cm

C. 4.8 cm

D. 48 cm



33

V01

The height of a boy was reported as 140 cm. The height had
been rounded to the nearest 10 cm. What are two possibilities
for the boy’s actual height?

Answer: ______________ cm   and ______________ cm



34

V03

In making a garden fertilizer, a gardener mixes 2 kg of a
nitrate, 3 kg of a phosphate, and 6 kg of potash. What is the
ratio of nitrate to the total amount of fertilizer?

A. 11
––
9

B. 2
––
3

C. 2
––
9

D. 2
––
11



35

B12

n is a number. When n is multiplied by 7, and 6 is then added, the
result is 41. Which of these equations represents this relation?

A. 7n + 6 = 41

B. 7n ± 6 = 41

C. 7n x 6 = 41

D. 7(n + 6) = 41



36

D08

If the ratio 7 to 13 is the same as the ratio x to 52, what is the
value of x?

A. 7

B. 13

C. 28

D. 364



37

D10

The cost, C, of printing greeting cards consists of a fixed
charge of 100 cents and a charge of 6 cents for each card
printed. Which of these equations can be used to determine
the cost of printing n cards?

A. C = (100 + 6n) cents

B. C = (106 + n) cents

C. C = (6 + 100n) cents

D. C = (106n) cents

E. C = (600n) cents



38

F11

If 4 times a number is 48, what is
1

of the number?––
3

A. 4

B. 8

C. 12

D. 16



39

H10



40

H12



41

J17



42

L12

In a sequence of starts and stops, an elevator travels from the
first floor to the fifth floor and then to the second floor. From
there, the elevator travels to the fourth floor and then to the
third floor. If the floors are 3 m apart, how far has the elevator
traveled?

A. 18 m

B. 27 m

C. 30 m

D. 45 m



43

L14



44

L15



45

L17

Find the value of x if 12x – 10 = 6x + 32

Answer: ______________



46

N13

If x = 3, what is the value of
5x + 3
––––––  ?
4x – 3

Answer: ______________



47

P09

Which of these expressions is equivalent to n x n x n for all
values of n?

A. n

3

B. n + 3

C. 3n

D. n3



48

P11

For all numbers k,
k + k + k + k + k can be written as

A. k + 5

B. 5k

C. k 5

D. 5(k + 1)



49

R10

Which of the following is true when a, b, and c are different
real numbers?

A. a – b = b – a

B. a(b – c) = b(c – a)

C. b – c = c – b

D. ab = ba

E. ab – c = ac – b



50

R12

If k represents a negative number, which of these is a positive number?

A. k 2

B. k 3

C. 2k

D. k

2



51

T01

A club has 86 members, and there are 14 more girls than boys.
How many boys and how many girls are members of the club?

Show your work.



52

V04



53

D11

What units would be best to use to measure the weight (mass)
of an egg?

A. centimeters

B. milliliters

C. grams

D. kilograms



54

F10



55

J10



56

L13



57

N15



58

P08



59

P12



60

T03



61

B11



62

D07



63

J11

Of the following, which is NOT true for all rectangles?

A. The opposite sides are parallel.

B. The opposite sides are equal.

C. All angles are right angles.

D. The diagonals are equal.

E. The diagonals are perpendicular.



64

J15



65

J16



66

L16

In a quadrilateral, each of two angles has a measure of 115°. If
the measure of a third angle is 70°, what is the measure of the
remaining angle?

A. 60°

B. 70°

C. 130°

D. 140°

E. None of the above



67

N12



68

P10



69

R11



70

B07



71

F08

If a fair coin is tossed, the probability that it will land heads up is 
1
2

.

In four successive tosses, a fair coin lands heads up each time.

What is likely to happen when the coin is tossed a fifth time?

A. It is more likely to land tails up than heads up.

B. It is more likely to land heads up than tails up.

C. It is equally likely to land heads up or tails up.

D. More information is needed to answer the question.



72

H07



73

H11

From a batch of 3,000 light bulbs, 100 were selected at random
and tested. If 5 of the light bulbs in the sample were found to
be defective, about how many defective light bulbs would be
expected in the entire batch?

A. 15

B. 60

C. 150

D. 300

E. 600



74

J13



75

L11



76

N18



77

P16



78

R09



V02

79
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